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Honors GEOMETRY
FIRST SEMESTER REVIEW
Chl:8 Ch 2:5 Ch. 3:7 Ch. 4:4, Ch. 5: 7 30 total Multiple Choice Questions

I. For each given statement, re-write the statement in “if...then” form. Then write the converse,
inverse, and contrapositive of that statement.
1. All wizards wear long, pointed hats and carry staffs.

2. Only small-minded people have racial prejudices.

s )

3. No children like to go to bed early.

II. Complete each of the following using inductive reasoning. Write a conjecture about the pattern.

-1, 1, 3, "3/ Conjecture: N2

4,7, 12, \f! Conjecture: MA%E%D&QUMN odd w85
2,49 \1 Conjecture: _(dd_ erene. + IMUE Y
1,2,5, 14, 41, ]zzZ- Conjecture: MulF, citd. ma,g Thon 0dol s

oV

ITI. Answer the following questions.
8. What notation do we use when naming the following. Dgaw an example of each and label it.

a. points A d. rays A¥ __ g. triangle DAL
b. lines W m €. segments
c. planes ABCD f. angles £PAC ., /Yo | 2-\
9. What does it mean for segments to be congruent? Draw a figure where two segments are congruent.
Label the picture. ) b) c. 9 L Gk

9(\, VW@ _

10. What does it mean for angles to be congruent? Draw a figure where two angles are congruent. Label

the picture. A A? >6 Zaml < %{

; ; . SIep
IV. Use the diagram to classify each set of points as

(A) collinear B

(B) coplanar, but not collinear
(C) noncoplanar

0 Peoa v
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i /LD CES
i DL, Gt
5. PBélanerE

16. PY B E

XIS




V. Use the diagram to answer each question. Show your equations and all work on all algebraic

problems. . -

17. What is the slope of the line through (-2, -4) and (3, -7).

1—7‘
18. If a line has slope —;, what is the slope of a line parallel to this line? SCLW\Q e T

19. If a line has slope —Z, what is the slope of any line perpendicular to this line? [ Cd"l Wl ’L,
redpread ) 3
VI. Use the diagram to answer each question. Show your equations and all work on all algebraic

problems. T
20. Name the sides of £ TCM. CT (M

21. What point is in the interior of £ JCL? 'V\

22. m/KCH+mzZHCL=ms /(L . 7 K
5.4k Mbisects 2 TCH, thenm./ TG = pl ECLL.

24. m/JCL+msLcH=_ §[) . -

25. /MCTand 2 |CK. form alinear pair of angles.
26. ZJCK and £ ]Y \Cﬁ are vertical angles.

- <>
27.1f CL1 MK, then m/ KCL=_° IQ° .

28.If CT bisects £ JCK, mZ JCT = 84°, and £ MCL is a right angle, thenmZ LCH=__ [ 7 :

e

_)
29. If CT bisects £ JCK, m« JCT = (14x + 3)° and m£ JCK = (30x —4)°, thenx=_ " and m/ JCT =

73 L

_)
30. If CL bisects Z MCH, m Z MCL = (2x + 17)° and m£ JCM = 3x — 15)°, thenx =2 > _and

m/ MCH = &(@" )

31. If ms JICM =27°, m£ TCH = 115° and m« TCL = 170°, then m« MCL = % 5§ -

> —
32 H CBKJ_ CL,mZ£ KCH = (4x — 13)°, and mZ HCL = (5x +4)°, then x = \\ ,and mZ JCM =
S




VII. Use the diagram to answer the following:
l ]2\

33.If a// b, name all of the angles congruent to £ 10. =

23 . 2\4 242D 6] 7 9710
34. If ¢ // d, name all of the angles suﬂplementary to £ 17.
L\ £1% | <\4 20

35.If d // ¢, name all of the angles congruent to £ 10.

Ll,L‘Il 43,4,)0
36. If b // a, name all of the angles supple ary to £ 17.

L\, l:’,l-\\ ;4% b 11/12 14 /15 =

1\7/18 1\9/20

VIL. Ifc//d, m£2 = 136" and m£14 = 54°, find the measures of the following angles

37. LN mZ 7
38. |30 mso
0. 44 mss
e e e

v
41. [.;\p ms 17 r{'ﬂb/w b 11 12 14[?

17]18 19/20
42. Sfto m/ 20 / / /

43. Find the missing angles in the diagram below.

i
=
=
5
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44. Find x and then the required angles in the diagram to the right.
a. mZ1=03x+5)°, mL6=(4x+7)° :

x=_ 24 msa-=_T11° mse=_[05°

b. m/5=-3(2x —6)°, m/11 = —(6 — 6x)°
¢ 9
T g ms15=_\¢

IX. For each piece of given information, tell which pair of lines (if any) must be parallel.

45. WL /8=,14 N/; 4/5
46. N 2 12=/9 a < S . 5 1o

47._ OV, Z14=219 , 7

8.l s12223 Covv A

9. mfln__ z16=215 SSEA

50._mlln  z2=219 ABA 14

51. /17= 215 11/ 12 13 )15 :
52. L1=2s20 AEY b s | 0 18/ o200
53. m/ln z7=214 ATHR 19
56 N\6No 8= 17

550 M /‘(' /3 and £ 4 are supplementary <551/t

56. \OWL /2 and £ 15 are supplementary m 3

57. 0fJ]lp 23 and £ 17 are supplementary SSLC/A

58. _NOYWJ Z5and £ 15 are supplementary
59. YIOWR_ /11 and Z 12 are supplementary

)

X. Find x. o

60.x=__ [ 61.x = L§<

O .
~Jo= |40
ot w P \’qi 1508, 4>
\QDSCD > e 150~ (SA<T)

62. x5 g 03 =%,= IE‘Q\S

x+ 16 3%*7/\!
4x + 10
= = 258 =
g{ (3x + 26|)° 2x + 6)°
il = @t ! e
:.z-——//;"{(’—— 1(’5\4 *2V>’YZ>‘+L¢: 150 &
))\;L'%* th by +62. +2x 1l =|50
=% 38 e
S L %)L = 2 &

)(\:. |§ZS/




XI. Use the diagram to answer the following .

6. | & Z msz4=msz ? +ms 7.

A 6 _bY tms1=37 andms5=101° thenm£3= 2.
66 20 » Ifm/3=68andm/ 1=62° thenms2=_2 .
67. Ol Ifms/7=73andm/5=124° thenm/ 1= 2 . e
68. A s e eI 8=l Mot 9= 7 /9 6&
69.fm/1=(4x+8)°,ms2=2(x+2)°andmsL3=6(x—6)° thenx=_? andmsL4=_?7_
>( =17 mL‘J[ /H"}
70.fmZ 6=(6x+23)°,ms1=(5x—-19and m£ 3=7 (x—12)°,thenx=_?_andm/5=_? .
71. Find the missing angle measures: \
CA L AB,CA //DB, m/1 =42, m/8="72 p/lq
A A
e
F
) N
D
\
/ . We T0We b&’
D . 1S >
2 9
el L 71 § i

72. What is an isosceles triangle? What things are congruent in an isosceles triangle?

AT T A e
W&dwﬂ/u

73. Find the missing angles




74. What shortcuts can we use to show that triangles are congruent? ‘ ‘

o) ASK AAS | HL 535 5 %
@\/a;;@?e?ss Qc/%&x WP QJC/ Pcw&(& | «%:4«%

COY
Draw an example of each of the freebles and draw pairs of triangles that are examples for the
shortcuts.

XII. Name the theorem or postulate that justifies the following pairs of triangles congruent. If there is
not enough information, write none.

%2 NONG 76. (\\\xﬁ\; e
, Petlpane
T Pb(/
,);;“1‘14’3 {
i ¢! o I -
78. Va8 S n PAS T SN

XIII. Tell which postulate or theorem justifies that A MAG = A HOW.

81. AMAS ,G=sW,MA=HO,/M=z=/H M H
82. nonl_ ~£G=/W,/Mz=/H LA=/0

83. SAS GM=WH,AG=0W,/G=/W

84. SSS MA =HO,AG = OW,GM = WH

g5, YWONE - 1y MA=HO,AG=0W

8. - _ YN sM=yH ZA=Z0/MA=HO A
87. 511 GM =WH. MA+AG, HOLWO, MA =HO

88. ,Q_( 2} £Gz=/ZW, AG=zOW, MALAG, HOLWO

p./




